
Time: 10 Minutes Paper Math 8 (T-1) Total Marks: 10

1st Month, 4th Week, 3rd Day Sub-domain III. Exercise 1.11 (Complete)

Q.1. Choose the correct options.   (0.5x 6 = 3)   ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX
(i) Which one of the following is perfect cube?

ŠŠŠŠgggg`̀̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚ZZZZqqqq----ååååkkkkìììì????
(a) 1100 (b) 6859 (c) 729 (d) 759

(ii)  Cube of 0.4 is: »»»»kkkkìììì:::: 0.4

(a) 6.4 (b) 64 (c) 0.64 (d) 0.064

(iii) 

(a) 10 (b) 12 (c) 14 (d) 16

(iv)Cube root of 216 is: »»»»____....ggggZZZZÅÅÅÅ))))½½½½ššššïïïï
EEEE

ìììì:::: 216

(a) 3 (b) 4 (c) 5 (d) 6

(v) 1728 is the perfect cube of: »»»»ååååkkkkìììì:::: ______1728

(a) 4 (b) 6 (c) 8 (d) 12

(vi)  Cube of -3 is: »»»»kkkkìììì:::: -3

(a) –9 (b) –27 (c) 27 (d) –18

Q.2.  Answers the following questions. ŠŠŠŠgggg`̀̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ!!!!****]]]]ŠŠŠŠ,,,,XXXX

(i) Find cube root of 35937. (1x2=2) »_.gZÅ)½šï
E

¥x™,X 35937

(ii) If a cube has length of 6cm, then what will be the volume of cube?

(1x2=2)

v¢aƒÂk»wHƒÇ? 6 Z¤/Zq-kÅMð

(iii) If the volume of a cube shape is 3375cm3, then what is the

measure of the edge of the cube? (1x3=3)

kv¢aƒÂkÆ)g}ÅeöHì? 3375 Z¤/Zq-k̂»w
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